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e Q Warm Up Grade 7

dd this to your
sheets

(-16)+ (-9) = ~&AS

(+7)+(+8) =_T|S
(+14) + (21) = =]

(+9)+ (17)=_~§

Test Sept. 24
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pabs

16 =5

-1

b) O

-1

Homework Solutions
or

1a)

b)

)
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2) 8 red — 8 negative Homework Solutions

you need 11 positive or yellow tile to get +3

(-8)+ () = +3
0 0000009 c—add |l POSIVR
@

3a)6 yellow, 1 red ) =15

b) 5 yellow, 7 red Y E7) =<
c) 4 yellow, 4 red HLD+L4H =D
b &\ (44\-3-(~5)543 Pialserean

(43) 4 (H) =

(42) +(-3) =

-2+ H)=" /

(-2y +d2\="1
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70\‘ L'l'SO\ _}_(_2& — 430 Homework Solutions

by (+8) + -10)= =S
&) 124000 4+ (4000 = 11R6 66D

A) H2 00D +(-1200) =+ 10 OO

S (D4 ) = +4
B H4)+ L) =2

Orally go over Sheet 272 # 7-12 (questions that were not marked
the previous day
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Subtracting Integers using modeling
May need to add zero pairs in order to subtract

Notes

rempve

(-10) = (-9)

Step 1) Model the first integer
000 0000000

Is there enough tiles to take away -5? ﬂgé

Step 2) Show removing by circling the tiles that need to be
removed and point a arrow away from the circle.

0000l o0y

Step 3) What remains is you answer to the difference
question. o 00 (Yo

(-10)-(-9)=( )
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Subtracting Integers using modeling Notes
May need to add zero pairs in order to subtract
rer?ove

Step 1) Model the first integer
OO

There are not enough tile to take away -5. To take away -5, we need 3
more negative tiles.

Step 2) We add ZERO pairs without changing the value.
Add 3 shaded and 3 unshaded to tiles.
QQ 9OQo

D a o

Sept 3) Now take away 5 negati;a. (unshaded) tiles.

DO.. 090

(-2) - (-9) = (+3)
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Subtracting Integers using modeling
May need to add zero pairs in order to subtract

Notes

remove

(-5) ¥ (+1)

Step 1) Model the first integer
olololele
+ ¢

Can I remo :

Can you remove the second integer? ’\)Q

Step 2) We add ZERO pairs without changing the value.
Add ) shaded and \ unshaded to tiles. => 2erp

OQO0O0DO o
L )
Can I remove +1 7 Yes

Sept 3) Now take away 1 positive (shaded) tiles.
OO 000

Redom what is e

— OQO00O0 9

(-9) - (+1)= ()
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Your Turn Subtracting Integers using modeling

2 May need to add zero pairs in order to subtract

(+5)-(+3) =
[ N J

Redraw whed i3 \efr

Bank

®-5 = =4 .
ocoo o 7

= O00O

6)+(-5) ==\

o)
OQOOOOJ

=0
(4)-(6) = L
N

Qo000 o o/
® ©o

-_ 0 e -1

+2)-(+5) = *= 3 - 1
Q

= 000

(+1) - (-3) =+
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pg. 69
§1.2.3,#4 dnd S F done

model/draw tiles

—

Frida
:I'estw Sept. 24
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